@ ¥ +2x-8=(x+4)(x-2)

® 2x* +7x+3=(2x+1)(x+3)
@4x2—|—4x—15 = (x=3)(4x+5)

® x®—14x+49 = (x-7)?

@ 4x% 4 4x - 15 = (2x - 3)(2x + 5)




2.

2x2 4+ x—-6, x2-4, 3x2-4x-20

@ 2x-3 @ x-5 @x+2
@ x-4 ® x-2

B

2x2 +x-6=(x+2)(2x-3)
¥ -d=(x+2)(x-2)

3x% —4x - 20 = (x + 2)(3x - 10)
whehA BEL Q15 (x 4+ 7)ol




ab—b—a+ 12 HFEA Q1FEaleh 227

D @-b)p+1) @ @+h)b-1 Ga-1p-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1) =(a-1)(b-1)




A A4S o851 24 x 27 - 24 x 22 & IHAstA Axtstelet.

24 X 27 —24x 22 =24 (27 -22) =24 x5 =120




5. 3x-20°]3x" —ax+8 9 AL W, a O] FS F5HH?

@ 11 @ 12 ® 13 @14 ® 15

B

3x2 —ax+8 = (3x-2)(x+ p)
=3x2+3px—2x-2p
=3x2+ (Bp-2)x-2p

-2p =28, p=—-40°]1,
3p—2=—a, a=14 °|t}.




T-5tefzt.

24




O|ZFA X% + ax + b B A ot 2 x T AFE
B (x+4)(x-7) 2&2 QJAF4ES) ol S2 AT EX B
(x=2)(x-10) 2 &2 QI5Hal stglet. o] wl, a — b 9] 27
@ 10 @ 12 ®)16 @ 18 ® 20
B ~
Zro] E o] A2 (x+4)(x—7) O] B2 x2 - 3x—28 0|1,
x FO ASE AR Hepong AFpghe 98 ot}
go] &F o]ZAL (x-2)(x—10) O]E& x2 - 12x + 20 °] L,
Ao ZF Hokong x o] A4E ~12 o|th
a=-12, b=-28
a-b=-12-(-28) =16




8.

O 271 & xy(2x+ 3y) —xy(x +y) o I8 BF ALE A2?
27]
Q@ xy © x+y © x+2y
@ 2x+3y @ x(x+2y) ® y(x+y)
ORGNC) 2)0,6,0 ® 0066
ONERCNC) ® 6,8.6

xy(2x + 3y) — xy(x +y) = xp{(2x + 3y) = (x +y)}

= xy(x + 2y)




9.

(x=1D)(x-2)(x+1)(x+2) - 10 A5E3sHA?

O (2-1)(x2=6) @) (2 +1)(x*-6)
® (x>-1)(x*>+6) @ (2+1)(x2+6

® (x?-1)(x*-5)

(2—1)(2-4)-10 = x* —5x2 +4-10
=x*-5x>-6
= (x2+1)(x*>-6)




10.

o2 x* - 81yt & QAE5) gF Ao}, o] w D Qtof gure
ZtA4=2] & FotHA?

w81yt = (2 + [P+ -y
O 13 @ 15 ® 18 @ 20 ® 24

xt =81yt = (2® + 9%)(x* - 9?)
= (x* 4+ 9y?)(x + 3y)(x - 3y)
~9+3+3=15




